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B PVEL+tydt = [H(E2 + /%) dt = [§t3/2+§t5/2]1=(§+6—;)—(
k3 f: secftanfdf = [sect9]ﬂ/3 secf —secT =2—+/2

" / /3 $in6 + sin 6 tan? sind + sin f tan? § 0_/ sm()(1+tan G)d /‘7(/3 sinfsec? 4o = / sind do
o 0

T sec20 sec? @ T sec?f

B2 (== 20e)do = [2fo - 2-2))de + [Flo — 2(e)]de = [, 3z dz + [ (~2)do = 3[327]°, - 372
| =3(0~-3)~@2-0=~]=-35

52. Letu = 22, so du = 2z dx. When:z::O,u:O;when:c:ﬁ,u:w. Thus,

foﬁzcos(zz) dz = [ cosu (3 du) = 1[sin ulg = 2(sinm —sin0) = 10-0)=0.

5. Letu =1/z,50 du = ~1/2® dz. Whenz = 1, u = 1; when z — 2,u = 1. Thus,

2 /z 1/2
/ d:c:/ e"(—du):—[e"]i/2 = —(el/z—-e) =e— e
1 1

x2

dz _ =1 hen z = e4"u. = 4, ThUSs
— = —. . Whenz =e,u= LW s
65. Letu = Inz, so du 2

u—1/2du___2[ 1/2] =22-1)=2.

4
¢ _dz  _
/e zVinz

. — x /T2 + a2 is an odd function.
0. [°, = /2% + a? dz = 0 by Theorem 7(b), since f(z) = z Vz* +a®1s

5.Letu=t,dv=sin2tdt = du = dt, v=—1c0s2t Then

[tsin2tdt = ~3tcos2t + 1 3 [cos2tdt = —3tcos2t + 1 isin2t+C.

1
122 Letu=Inp,dv=p°dp = du= ;dp,v = (—lips. Then

1.6

Dlety = Inz,dv=2"2dr = gu= ldz, v = —z"1 By (6),
x

2
Inz Inz]? 2 112
2 dz= [~—L+/1 z?de=~iIn2+In1+ [-;Jl=—§1n2+0—§+1=§_§1n2.
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30. Letu =72, dv = ﬁdr = du=2rdr,v=+/4+r12 By (6),

1 ,,,3
——dr =
=\/5—§<5)3/2+§(8)=x/3(1—%2)+‘—:=1—§—%~/5

k')
Letw = \/z, 0 that z = 1,2 and dz = 2w dw. Thus, f e‘/_dz—f2e"’2wdw. Now use parts with o = 924,

dv=e"dw,du = 2dw, p = ev to get [ € 2w duw = [Qwew]f_gfl?ewdw =4€2—2e—2(e2—e) — 262



